

ditto

$$\begin{aligned}
& (\hat{L}_x + \hat{L}_y) \hat{L}_z - \hat{L}_z (\hat{L}_x + \hat{L}_y) \\
&= \hat{L}_x \hat{L}_z + \hat{L}_y \hat{L}_z - (\hat{L}_z \hat{L}_x + \hat{L}_z \hat{L}_y) \\
&= \hat{L}_x \hat{L}_z + \hat{L}_y \hat{L}_z - (i\hbar \hat{L}_y + \hat{L}_z \hat{L}_x) - (\hat{L}_y \hat{L}_z - i\hbar \hat{L}_x) \\
&= \hat{L}_x \hat{L}_z + \hat{L}_y \hat{L}_z - i\hbar \hat{L}_y - \hat{L}_x \hat{L}_z - \hat{L}_y \hat{L}_z + i\hbar \hat{L}_x \\
&= -i\hbar \hat{L}_y + i\hbar \hat{L}_x = i\hbar (\hat{L}_x - \hat{L}_y) \\
&= i\hbar (\hat{L}_x - \hat{L}_y) \psi = 0
\end{aligned}$$

Components with L_2

5) No

$$\begin{aligned} & \hat{L}_x \hat{L}_z - \hat{L}_z \hat{L}_x = \hat{L}_x \hat{L}_z - (\hat{L}_z \hat{L}_x) \hat{L}_x \quad \text{X/X} \\ & = \hat{L}_x \hat{L}_z - (i\hbar \hat{L}_y + \hat{L}_x \hat{L}_z) \hat{L}_x \\ & = \hat{L}_x \hat{L}_z - i\hbar \hat{L}_y \hat{L}_x - \hat{L}_x \hat{L}_z \hat{L}_x \\ & = \hat{L}_x \hat{L}_z - i\hbar (\hat{L}_x \hat{L}_y - i\hbar \hat{L}_z) - \hat{L}_x (i\hbar \hat{L}_y + \hat{L}_x \hat{L}_z) \\ & = \hat{L}_x \hat{L}_z - 2i\hbar \hat{L}_x \hat{L}_y + (\hbar)^2 \hat{L}_z - \hat{L}_x \hat{L}_z \\ & = -2i\hbar \hat{L}_x \hat{L}_y - \hbar^2 \hat{L}_z \neq 0 \text{ in general} \\ & \therefore \hat{L}_x \text{ does not commute with } \hat{L}_z \end{aligned}$$

✓ What are methods *

please find

[Handwritten signature]

simplest way is to note that if \hat{L}_x^2 commutes with \hat{L}_z

Then \hat{L}_m must also commute with \hat{L}_z & we know that

Miss as before